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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o ePPTYRY T fia

(@)

(b)
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What is international trade?

WIELAE JMiTey & 2

What is inter-regional trade?

g e F 9
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(2) (3)

) Write one assumption of Ricardian 2. Answer the following questions : 2x5=10
theory of comparative cost. .- ey
TS PRI ve :
RI{T e T g B! SSYRen fore |
(d) Mention one essential element of (a) Mention two differences between inter-
Heckscher-Ohlin theory of inter- regional and international trade.
national trade.
S ST BB AR o1 R S
ER-SPER WRREE A SgOR 96l | e
SR eqre fore | |
fe) What is Leontief paradox? (b) Write two assumptions of Heckscher-
frefowq e 75 2 Ohlin theory of international trade.
W oS st IR SRRy A SIS
i} efine multinational enterprise. =
e SrreE e fe |
{g) Mention one merit of free trade. () What is international product .c?,rcle
theory?
TS &R <G00 R Seay 741 |
s Teemw 5 wgol 62
(h) What is protectionism?
SRR 2 (d) Mention two causes for the downfall of

] i Bretton Woods system.
(i) Define flexible exchange rate.

iR R 2 i o Gl g5 TR T oL FH A 5|
() What is foreign exchange market? (¢) What is financial globalization.
At Rivem wa= 2 A TP 5
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(4)

3. Answer any four of the following questions :
5x4=20
ToF 2P R e vifReR Ses o

{a) What are the reasons for international
trade? Explain.

HEEos T FREE &7 0 F40 |

(b) Discuss the importance of Ricardian
theory of comparative cost in developing
countries.

T opre REMT PHANES AW ©GON
WFR HCEOA F41 1

{c) Briefly explain the localization theory of
international trade.

wEEes qANEH ARSI ©GHl BN
e F |

{d) Distinguish between free trade and

protection.
TE qffer O siEfre qfdeR see Qe
el 31

fe) Distinguish between fixed and flexible
exchange rate.

&3 = oA [T 299 e ieE o
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(S)

Distinguish between tariff barriers and
non-tariff barriers.

WE ARSI SRR ARSI qore {19
fofg 41 |

4. Answer any four of the following questions :

10x4=40

o] PR R e wiRbE Tew i

(@)

(b)

(c)

24A/484

Explain the Ricardian comparative cost
theory of international trade. 10

0T TRREH TSR TEE I Ol
SCEAGA 41 |

Discuss the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the
limitations of Heckscher-Ohlin theory.
5+5=10
i wmeifee afde ogole @R-9 o
TEOR ROl SEbAl € | (IR e

SO SREerTz Ty 4 |

State and explain the technological gap
model of international trade. 10

reEiies e ayfelnm F1e ©gn SEy
T S L A
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{6) (7))

(d) Critically discuss the product-cycle (h) Discuss the main reasons for the

thicory of internatbRA Erois 10 international financial crisis. What are

the wvarious effects of international
TEEfes AN 0 T 5@ gl financial crisis? 5+5=10
FATCEAGAT RS SHCATOAT P47 |

wEEiioe R8I o9 T IR A

M wEEfer {8 et [few aereRz
{e) Compare the effectiveness of tariff &9

and quota as a weapon of trade
restrictions. 10

Jfdey fagem =nfeen B ws W AR
fefieel <raer PRl Do 4 |

* Kk ok

() Analyze the effects of tariffs in a partial
equilibrium system. 10

AP S EERS WH AS[ &eme 90 1

(g9 How was equilibrium exchange rate
determined wunder gold standard?
Mention the reasons for the collapse of
the gold standard. 5+5=10

FiIwe ST @ R 29 (e
FfiRe e ? TR IR o PRPIR
Trey 91 |
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